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Forces and Motion Quiz

1) W}wat is the net force acting on the box? 20 W et j fo N O+ § N fz\ Slq"r
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2) If the box has a mass of 5 kg, what is the acceleration of the box? fﬁ?@ T
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3) On Earth, a person has a mass of 30 kg. What is his weight? e
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4) If the person moved to another planet where gravity was less than on earth his mass would
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5) Aballis dropped off a cliff. It takes the ball 3 seconds to hit the ground.

5 % a. What is the ball’s instantaneous velocity when it hits the ground?
\
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(o What is the total distance traveled by the ball?
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6) Newton’s 1% Law, an object at rest stays at rest and an object in-
same speed and direction is similar to what concept?
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c. Acceleration

d. Electricity
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7) A car’s velocity decreases from 30 m/s to 15 m/s in 5 seconds.
a. Isthe acceleration going to be positive or negative? Why?
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b. What is the car’s acceleration?
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8) Mr. Marchant walks 5 meters to the left and then 3 meters to the right.
a. Draw Mr. Marchant’s path
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- b.WhatisMr.Marchant's{total distance traveled?
Stekecs + S meters

c. Whatis Mr. Marchant’s displacement?i | '
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9) On a position versus time graph, a person’s slope is 2. What is the velocity of that person?
Shye = Veledy ~7 2= —>| V=71

10) A man is standing on a swing held up by 2 cables. The man has a mass of 50 Kg.
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a. Whatis the man’s weight?
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b. If one cable has a tension force of 400 N. What is the tension force in the other cable?
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11) c Typ) wJ The picture below shows a “top-down” view of the
path of a toy airplane attached to a string being

spun in a circular path above someone’s head.

a) The force that bends the object in a circular
path is called? CC‘)J')ITipe:)m] grc.:_

b) If the string breaks while the plane is at the
top of the circle, which direction will the
plane fly in? £

c) Why does the plane move in that direction if
the string breaks? '

a. Kinetic energy

c.—tmpulse
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12)

Frictioni=4 N

l Force on string = SN
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c. Ifthe cart has an initial velocity of 0 m/s, what will the cart’s velocity be after 4 seconds?
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a. Whatis the net force on the cart?
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13) A ball is kicked into the air with an initial velocity of 25 m/s. What is the ball's total time in the
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14) A sky diver has a mass of 50 kg. =
A\ F..=600 N

a) What is the skydiver's net force (Make sure to include the

direction)? \:T:l[;(UN
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b) Is this force slowing him down or speeding him up?

g )M\;\Jg h? M (\law}J

~Q c) What is the skydiver’s acceleratloMMake sure to in
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d) Ifthe skydiver-has an.initi city of 20 m/s what is his

velocity after falling for 4 seconds? Cw”ﬂg &
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